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Name: i Date:

Test Pmp

Mubtiple Choice

Fill i the circle next to the correct answer.

1 Whlch of the following is 3,450,026 in word form? (Lesson 1.1)

Three million, four hundred fifty thousand, twenty-six
Three million, four hundred thousand fifty, twenty-six
Three mi”ionA, fifty thousand four hundred, twenty-six

Three million, forty-five thousand, twenty-six

2. Which number is the greatest? (Lesson 1.3)

(A 15265 ® 93216

320,182 (@) 320,128

3. Which number when rounded to the nearest thousand is 23,0007 (Lesson 1.4)

(A) 22,097 22,499
23,400 (D) 23,501

4. Simplify 20 + 10 X 19 — 7. (Lesson 2.6)
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5. Which is 1,000 less than the product of 3,021 and 797 (Lesson 2.3)

(A) 2,100 4,100

237,659 , (D) 239,659

6. Which is the difference between the value of the digit 6 in 2,300,628
and in 846,1507 (Lesson 1.2)

(A) 600
© 5522 (D) 6,000

7. Which is the remainder when 4,885 is divided by 217 (Lesson 2.5)
@) 13

8. Express %— + 4 in simplest form. (Lesson 4.6) Mo o DL <
@ 2 - 8 -

" : A4

e A

h ® 4

9. Find the difference: 2 — 2. (Lesson 3.2) L
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10. Find the pl’oduct:gx—a—. (Lesson 4.1) Zy 5 Z |
4 12 X 74 2 - ?}
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Names: Dates

11. Estimate the sum of % and % (Lesson 3.1) 4+, o )4

@ 1

12. Whot is the difference between 3— and 1—~ ? (Lesson 3.6)

'3—
@4‘2‘

13. Find the area of triangle ABC. (Lesson 6.2) | Ll own s 7 (1) .
A 14om G ® 126 cm? Y A e

N 98 cm? W
@ 63 cm?

49 cm?

9cm

14. Sirplify 4x + 6 — 2x — 1. (Lesson 5.2) Tx v o Ox -1

A 6x+7
© 8x+6
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w

15. For what volue of y will the inequality 3y + 4 < 8 be true? (Lesson 5.3 )
y= y=2
@ y= © y=4

16. Glass A contains 236 milliliters of milk. Glass B contains 420 milliliters
of milk. What is the ratio of the amount of milk in Glass A to that
in Glass B? (Lesson 7.3) : - 2le XD

(A) 89:135 119:165 g 210

(© 479:660
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Short Answer
Read the questions carefully. Write your answers in the space
provided. Show your worl.

17. What is the missing number in the box? (Lesson 1.2)

87,412 = 80,000 + )+ 400 + 10 + 2 L, 808
18. Order the numbers from gréatest to least. (Lesson 1.3)
35,928 164,239 35,982 916,236
19. Rounding to the nearest thousand, what is the least number that rounds
to 32,0007 (Lesson 1.4)
201
=51

20.  Find the product of 238 and 4,000. (Lesson 2.2)
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21. There are 215 Grade 5 students in Cherrywood school. Each student
spends $17 on a dictionary. How much in all do the students
spend on the dictionary? (Lesson 2.7)

22. Mr. Hull is buying computer equipment for his company. The equipment
costs $45,900. He pays $5,300 for the first payment. He then pays
the rest of the amount in equal payments for 14 months. Find the amount

he has to pay each month. (Lesson 2.7)
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Neames Bate:

23. Simpli\(y (2 +4)YXT -6+ 11. (Lesson 2.6)

<2%’%>M7Wi" el Ly T— x il

94.  Express 38 + 6 as a fraction in simplest from. Then rewrite the
fraction as a mixed number. (Lesson 3.3)

CLEIEN

Ay

%
:L@..,;v %fgé

25. Shaun has 24% ounces of beads. He has 3% ounces of beads less
than Tony. Find the weight of Tony's beads. (Lesson 3.7)

, 2 -1
oz . 25 = 21% 7
218 ounces

26. Express 24% - 15% as a decimal. (Lessons 3.3 and 3.6)

315
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27. Lita jogged 7% kilometers on Friday. She jogged 1% kilometers

more on Saturday. How many kilometers did she jog on
both days? Give your answer as a decimal. (Lesson 3.7)

N
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N \r“
e
-4
g
H
& &
&, “I
3

28.  Multiply 269_ by —118 Express the product as a mixed number

in simplest form. (Lesson 4.3)

3
=

3

£

£

¢

=4

|-

710 3 35 2 s
Ly - — X I 5
L * a7 2
S

8

— 105 g

— . N 5

z z

| 2

i 3

- ETR TS ]

- b e ©

I
N2 2

29.  Jamal runs 12 miles a day to train for a race.
5

@« 1f he runs the same distance for 3 days a week, what
is the distance he runs in one week? ‘
b. If he keeps to this training regime for 8 weeks, what
is the total distance he will run in 8 weeks ? (Lesson 4.5)

2 T o <3 } {
= oo B = T o= C e €
IR T 5 X0 ) i LEZ\" i€
3 21 iLad
L X = = W I e e
AR SRR
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Name: Date:

2
10

Find the length of each piece. (Lesson 4.6)

30. A ball of string == meter long is cut into 3 pieces of the same length.

o 1O >
, )
2
o hA
31. 3 batteries cost $51; and 8 folders cost $2r. Jason bought
6 batteries and 4 folders. How much does he pay?
Give your answer in terms of r. (Lesson 5.4)
Srx 2 =10
Zr= 2= r
lOF + ¢ = l\r Sl
32.  Solve this equation. (Lesson 5.3)
da—8=a+ 4
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Yo~ 9= a+H
Wo - R4 § = at b+ R

L\ o = A EZ |
L{Q - 04 E’Z e

33.  The base of the triangle ABC is as given.
Label its heigh’c . (Lesson 6.1)
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Extended Response

Solve. Show your work.

7% Poles are placed an equal distance apart along a 6-kilometer

road. There is a tree in between every two poles. The figure shows the
distance between a tree and two poles. Poles are placed at the start and
end of the road. How many poles are there? (Lesson 2.4)

:,lléﬂ"\ = 1,006 M o
(o km = e, 000

(,,000 = 40D = = Y
o & }fi\b'f« .
WFL" Gt 1S 4reld [‘il rx@r Lofa by o
| (=121 ‘ 200 m 200 m
b
Trenn et poled

4@ﬂ
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41, A whole number when divided by 4 gives a remainder of 3.
The same whole number when divided by 6 gives a remainder of 1.
: The number is between 70 and 85. What is the number? (Lesson 2.5)
v, 4 0.4t e ( ‘
\ ':,, \U\)i‘\_r e 1 -
ey padt ¥ 2 \ \ e
e ﬂ e t;
f ! £ 2, ><
- folre > [ 2R =
1> 'esl\ ‘a
2, "‘ 2R
14 / (o K \
/ |
l / ,
v“\ "’I ‘EM
\ ] bt b V2
y { - J Y _4,:’:;& B
T e n
j N
J ;x‘ g PR ;
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Name: Date:

=4 Sarah earns $525 more than Andrew each month. They each spend
$1,250 a month and save the rest. Sarah does not have any savings at -
first. After 11 months, she has $8,250 in savings. How much does Andrew
earn in a year? (Lesson 2.7)

}P%u;ﬂ )= 7180
4 750 ¢ G120 = #2000
H

& 2,000 - £ 525 - $ 1L HTO
L 1S each v oty .
b :

42.

A et e O :;
&
&

7 x 41,475 = 17,7700

ey fT
!
He o $ \7, 7100 a N ¢our,

43.  Ivan caught a total of 7% pounds of fish one day. Of the fish caught,

4—2— pounds were sea bass and the rest were mackerel. He gave away

1% pounds of mackerel. How many pounds of mackeérel did he have left?

Give your answer as a decimal. (Lesson 3.7)

2 W 2l
(- Y%7 Z4p
B ¢ &) i e { & a A)
Z 21 Lo nicls :\ o bl Wittt %””*"‘i{"“"t QEP
Y U
zl 1. zb
-~ B S T
- A
e
- 04
] | (e
Ne - had 0.0 pouwsnds o left
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A4.  There were 2% quarts of milk in Container A and some milk in Container B.
Lisa poured ’l% quarts of milk each into Container A and Container B.
In the end, the total volume of milk in the two containers was 10 quarts.

How many quarts of milk were in Container B at first? Give your answer

as a decimal. (Lesson 3.7)
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i A i YA
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A5.  Tyrone read a book for his school project. On the first day, he read
40 pages. On the second day, he read % of the remaining pages.

After the second day, he still had to read —%— of the total number of pages
to complete the book. How many pages are in the book? (Lesson 4.2)

'40 E;C‘j g,
A o 5
1 L ) \ 1 J 2 wnifs > HO prass
[N v S | st 7 R P
bt Aaxf 2nd \ef+ (o LnAtS —2 |20 pAsge
A
g\v‘_}‘ @

Thaie ane 120 PRefo G ke bov
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. Name: i Date:

A6. A dedlership has 9y cars, 12y trucks and 18 vans. (Lesson 5.4)

a. 4y cars, 3y trucks and 15 vans are sold. Find the total number of
vehicles remaining in terms of . :

)
7
g
O
%::n
Soor
{
]
oo
g
S
B\

¥ o

’T’/\J? Yotod remon (MFJ s My+ o

b. If the value of yis 7, are there more trucks or more cars and vans at first?

e . ﬁ ‘

{V‘{,L(jiﬁ» : C\‘@Jff W Vs WY S . ;
2T 84 (o) + U5

gd = 3| Theee are moTt tvuchko oA [rffjf

PRy

A7.  The side of square JKLM is 14 mches KP = MP=JP=LP
Find the total area of the shaded pc:rts (Lesson 6.2)
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Area of AKLQ - Zx k< A4 g

' /A(rﬁ/&. 6§ A KLD = Z% v |4« 4
| - 49 n?
03- 49 - 49

e v e et i A5 S O A SR 1 S £ PSP 1
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Mames:

Date:

E@d @%w{eax’ R.evnew

Tes& Pmp

Shade the circle next to the correct answers.

qll

@u

In 130.426, the digit 2 is inthe place. (Lesson 8.1)

@ tens ' tenths

\/,} hundredths @ thousandths

Use front-end estimation with adjustment to estimate

6,189 — 3,674. (Lesson 1.4)

(A) 1,000 2,000 .
© 3000 (D) 4,000

Simpl%fy A8 — 8 4+ 13 X 3. (Lesson 2.6)

& 15 (B) 54
© 57 D) 75

Express 10»— - 45- as a decimal. (Lesson 3.3)

® 625" @ 575 |

© 5.43 (D) 5.34

Express 9 062 as a mixed number in mmplest form. (Lesson 8.3)

® C)100 . 9 1
@ 91000
What is the product of 96 and 137 (Lesson 2.3)

900 ' 960
© 1,170
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7. Divide 84 by 400, (Lesson 9.4)

0.84
D) 84

8. Simplify 16p + 5 — 3/5 — 2. (Lesson 5.2)
® 19p+7 190 — 3 |
® 13— 3

9. For what value of y will the inequality 4y — 8 > 10 be true? (Lesson 5.3)

® 2 ~ ® s

19.  What percent of the figure is shaded? (Lesson 10.7)

35%
D) 50%
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. The price of a cell phone is $500. Kathleen pays 8% sales tax on the price
of the cell phone. How much sales tax does she pay? (Lesson 10.4)

Q $400 (B) $50
| $40 © $8

ond CD are lines.-Find the measure of Za. (Lesson 12.1)

&>
AB
A 180°
105°
B 75
57°
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Name: Date:

for Chapters5 .

Concepts and Skills
Complete. Use the data in the table. (Lesson 5.1)

The ages of four cousins are shown.

8,12, 10,6
1. The sum of their ages is __j_)_cf__ years.
2- The mean age of the cousins is ____f!\;____ years.

‘Answer each question. Use the data in the line plot. (Lesson 5.2)

A group of hikers made a line plot to show the number of mountains
they climbed. Each ;i represents one hiker.
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D T ] T T |
1 2 3 4 5 6
Number of Mountains Climbed
§ ’ ) 4 N
3. What is the median number of mountains climbed? i‘% ' /I’V\“ ddis)
= T ( ) ¥i i iz‘s"&-
[ v A4 [ l\/& C l‘g‘:’ - 18
4. What is the range of the set of data? — - | Qb,\\b}“ WAL L,/\'
’ A4 ,{* T =
5. What is the mode of the set of data? Q’ (mx&J R ,\gL_‘ )
171

Cumulutive Review for Chapters 5 and



46

Neme: : Date:

for Chdpters 12to 14

Concepts and Skills
Estimate the area of each figure. (Lesson 12.1)

1. 1 em
fa——

-
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g
g
]

2. 1 em

ERNEI

147
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Solve. Show your work. (Lesson 12.2)

3. The perimeter of a rectangle is 54 feet. Its length is 14 feet.
Find its width.

Len ot + wi At = Ba-2
- = 27t

14+ widdh - 2 H

widdih = z7-14
- (2 1

: - ) B N L
The width of the rectanale s 12 feet

A. The area of a rectangle is 65 square inches. Its width is 5 inches.
Find its length.
‘ - 2 ’f‘ i g,(\l e . ,_»a%
L e.n @\Tg»—{/\ X \/\/;‘d-»’réf‘\ s e o1 PO s u..wf«;:!é
- u ' . s

Lo o b “ - Lo L
The UL!"“‘\{}%‘-{/? of e VECTumen tn bS AL
Problem Solving
Solve. Show your worlt. (Lessons 12.3 and 12.4)
20.  This figure is made up of rectangles. Find its perimeter and area.
Ve 9e5i 712472 Sem,
- A2 cnn 7 cm
9 cm
P dzom

A= Txl+ 93
- Ay + 40
= B om”

6 cm
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Solve. Show your work.

21. A rectangle is divided into 3 identical squares as shown.
The area of the rectangle is 147 square yards. Find the length and width.

ol |
|

and Hha Fyds.

22, A photograph measuring 12 centimeters by 9 centimeters is mounted on a
rectangular piece of cardboard measuring 20 centimeters by 15 centimeters

© 2009 Marshall Cavendish International (Singapore) Private Limited

as shown.
Find
ei. the area of the border.
) 20 cm
/A rta Cﬁ’ Cordboords 20 c1E = SO0 [ border |}
o A ) ‘ 1|15 em
Ato of bovdis = 200 - “D‘Z_S 9lem || photograph |
p (052 Covi ¥ ¥
P g AP
Tra orce of dhe bordir 15 92am?
b. the perimeter of the border.
P= 15120 (D 4+T: (2 +4+ 5
- BB
N R W SR~ O oy P
. o Ve lporoubs Us S LA
Tl pttiomeier ob e
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Name: Date:

for Chapters8 -

Concepts and Skills
Mark X to show where each decimal is located on the number line« (Lesson 8.1)
1. 0.032 2. 0.047
P I P I T A "2 o B
i l 7 I
0.03 0.04 0.05

Complete. (Lesson 8.1)

A

3. 3 tenths 5 hundredths = _ﬁg__ thousandths

4. 803 thousandths = .___\’;___ tenths __ D thousandths

© 2009 Marshall Cavendish International (Singapore) Private Limited

5. 0.835 = 8 tenths 3 hundredths __é___ thousandths

Write the equivalent decimal. (Lesson 8.1)

6. 8 ones Gnd 214 thousandths = 3.2 |-

7. 1,180 thousandths = \ B0

_60 . "1.000
8. 7o _ OGO

9. 8050 _ (. 050
1000

73
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4.526 can be written in expanded form as 4 + 0.5 + 0.02 + 0.006.
Write each decimal in expanded notation. (Lesson 8.1)

s - Y
. oao=_02 4 00Z 4 0 009

) £
W 20125=_20 4 01 . 002 4 0009

Complete. (Lesson 8.1)

In 9.168,
12.  the digit 6 is in the nondeedihs place.

13.  the value of the digit 8 is 0.00%

14. the digit 1 stands for | tesrtn ov D

Compare. Write >, <, or =. (Lesson 8.2)

15.  1.07 @ 1.7
16. 3.562 3.526

17, 154 15.40

Order the decimals. (Lesson 8.2)
18. 2.08, 1.973, 6.1

Begin with the least:

——tg

L9755, Z.0%8, .

4

19. 1.567, 1.667, 1.376

Begin with the greatest:

LT, 1567, 127k

74 Cumulative Review for Chapters 8t 10
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Name: Dute:

Fill in the blanks. (Lesson 8.2)
20. The mass of a strand of hair is 0.179 gram.
Round the mass to the nearest hundredth of a gram.

0.179 gram rounds to 0w gram,

. 21, The length of a rope is 2.589 yards.

© 2009 Marsha!l Cavendish International (Singapore) Private Limited

Round the length to the nearest tenth of a yard.
2.589 yards rounds to _éL yards.

Write each decimal as a mixed number in simplest form. (Lesson 8.3)

L IV
22. 6.2 = __('!i')___. 23. 2.16 = 2 Tolo2ne Z.‘ 25 -
Multiply. (Lessons 9.1 and 9.2)
24, 29.3X8= _2_54‘ 4 25, 1208 X 5 = (0. 4
L] n B

26. 86.4% 10 =8 27. 135 x 30 = 105

r“ (" H
28, 7396 x i00=_1,290 20 62x700= 4,340
30. 9.34 X 1,000 = Y 31,  25.6 X 9,000 = L= W

75
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Divide. (Lesson 9.3)

32, 05-5=_01 33, 063+9=_01
34. 368+ 4=_ 1L 35. 963 ~+5= 1. 2l

. : ya
36. 336-4=_ 0. 37, topsg=_0.29

Divide. Round the cuotient to the nearest tenth and nearest
hundredth. (Lesson 9.3)

38. 19+7= __A_i__ to the nearest tenth

19 +7 = _/_i”__ to the nearest hundredth

76 Cumulative Review for Chapters 8010
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Name: Date:

Divide. (Lesson 9.4)

=2 R A ¥
39, 38+10=_2-0 _ 40, 196 -20=_0H4d
oS |
M. 45 100=_0045 42. 375+300=_122
43. 5030 ~1000=_00050 44, 2506+ 7,000 = 0.2o%

Estimate each answer by rounding the numbers to an appropriate
place. (Lesson 9.5)

45. 91.2 +259 46. 37.4— 11.7
gy« 2= W =7 25
A7. 21.63 X5 ‘ 48. 7.05+8

2z » 5=\ g~ 8=\
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Name:

Find the unknown ¢

22.

24.

26.

Date:

angle measures. (Lessons 12.1 and 12.2)

> &
AB is a line. 23. AB is aline.
| C
g -~ 490 . Sl
A 82°NO B
D
5 O . O
m/BOC=_ 140 nsAOC = 12!
0O o D
m/ DOE = __lo m/DOB=__ 18
25.
s 70° N4
94°N145° ‘ 5 64°
gy O Q
mss = i mZp + qu:_]_\(@____
>
CD is a line. 27.
A
_C °8° .
<@ s =
E B
m/ COE = i

151
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Find the unknown angle measures. (Lesson 12.3)

& & &>
AB, CD, and EF are lines.

28. c 29. ’
A b 82°
54 o 5
-~ 95>
A oNe B ¢
B
D
o <7 ©
mZa= _____5% m/a= _____._\E{’i‘ .
) LD E
m/.b = __\;Z_(o___ m/b = __ﬁj____ §
30. 31. 5
A 2
a o 2
p Y ¢ :
P iB ;
ﬁLa = Vq\oo 5
mZlb = .___CQ.Q__
mid=_12 mlc=__ 42

mle = _ 16

m/b+ msid+ mle

_ 1%
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